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(a) Do you think the big kite helped the little kite in any way? Why, Why not?
(b) List two advantages and two disadvantages of building large wind farms.
(c) Do you think Anne did the right thing by being so strict? Why do you think so?

Q 2.  Answer the following questions- (3x1=3)
(a) Name the printing system that Helen used to read books.
(b) Who was Baloo? What was his opinion about the man’s cub?
(c) How did Marco Polo travel back to his home?

Q 3. Correct the sentences as directed- (2x1=2)
(@) You have a lovely house. (Exclamatory)
(b) Can you put down the bat. (Imperative)

Q4. Match the following columns by using the correct conjunctions- (6x ¥2 =3)
Part — 1 Conjunction Part — 2
(@) 1 had spent all the money. (1) Because (1) They would not wake the baby
(b) He put on his jacket (2) Therefore (i) He felt cold
(c) She has been here before (3) So (iii)  Make way for the ambulance
(d) The cars changed lanes (4) In order to (iv)  Itwas running
(e) They talked in whisper (5) As (V) I could not buy a choco bar.
(f) We could not play outside (6) So that (vi)  She is leading the way
Q5. Form clipped words for the following words- (4x Y2 =2)

(a) Examination
(b) Cabriolet
(c) Gymnasium
(d) Luncheon

Q6. Describe these pictures using the prepositions of movement- (2x1=2)




Q7.

Q8.

Qo.

Complete the following diary entry to express the future tense- (8x Y2 =4)

Here’s , what I plan to do next week. On Monday, I (a) (play) hockey with my friends in a
field nearby. On Tuesday I (b) (help) my brother clean the garage. Then we (c) (go)
fishing. 1 am sure we (d) (catch) lot of fishes. My sister says we (e) (not catch) any
but we (f) (show) her. I have promised Aunt Indu that I (g) (watch) a movie with my
friends and then we (i) (go) to the museum.
Complete this story with a,an, the or no article- (6x %2 =3)
| am from Agra. Agra is famous city India. It is situated on the banks of

river Yamuna. People from all over world visit Agra to see Taj Mahal. |
live in big house in area called Subhash Nagar.

You are Rohit living in Delhi. Write a letter to your friend Punit describing your first train journey(5)
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Q2.

Q3.

Q4.

Q5.

(1) Which of the following is an example of adaptation?
(@) A bird flying south for the winter

(b) A polar bears white fur.

(c) A fish swimming in the ocean

(d) A plant growing in the desert

(2) Why do desert plants have deep roots?
(a) To absorb more sunlight

(b) To store more water

(c) To reach underground water

(d) To grow taller

(3) Which of the following is a component of soil?

(@) Only sand (b) only clay (c) sand, silt, clay and humus (d) only humus
(4) What percentage of Earth’s surface is covered with water?

(a) 50% (b) 60% (c) 70% (d) 80%

(5) Which of the following is a type of injury?

(@) Cut (b) Burn (c) Fracture (d) All of the above

Source Based - (1x3=3)

“Camels have a hump on their back to store fat, which provides energy when food is scarce. Their
wide, padded feet help them move on sand. They can go without water for long periods”.

(&) What is the purpose of a camel’s hump?

(b) How do camels move efficiently on sand?

(c) What adaptation helps camels survive without water for long periods?

Case study - (1x3=3)
Rahul, a classmate falls from the playground equipments during recess and injures his leg. He is in
pain and cannot walk.

(a) What should you do immediately to help Rahul?

(b) How can you provide basic first aid to Rahul’s injury?

(c) What should you do to ensure Rahul receives proper medical attention?

Tick the correct statement and fell the reason why it is correct- (2x2=4)
(a) Muscles helps us move by pulling on bones.

(b) The femur is the longest bone in our arm

(c) Joints help our bones move smoothly.

(d) Our skull is made up of a single bone.

(e) Our skeletal system is made up of 306 bones.

Define - (1x3=3)
(a) Humus

(b) Ore

(c) Ligament




Q6. Give reason- (3x2=6)
(a) Why do rocks have different shape and size?
(b) Why should we know basic first-aid techniques?
(c) Why do migratory birds fly to warmer places?

Q7. Answer the following question- (2x3=6)
(&) Why is water essential for life?
(b) How can we conserve water?
(c) How do desert plants adapt to conserve water?
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Tick the correct option-

Q1.

Q2.

Q4.

Q5.
Q6.

Q7.

SUBJECT - MATHS

M=%
@1

(b) 5

(2) The number for 2 + 0.02 is

(@ 2.2

(3) 7L 125 mL=

(a) 7.125

(b) 2.22

(b) 71.25

(4) The prime factorization of 27 is

(@) 3x3x3x1

(b) 23x9

(5) If 435 x 7 = 3045 then 435 x 700 =

(a) 3045

(b) 3000+5

Do as directed:
@ % in its lowest terms is

()

-0.95=0.05

(c) 9 +3.26 + 7 tenth =
(d) Find the radius if diameter is 25 cm =

Complete the table-

(c) 30

(C) 2.02

(c) 71.250

(c) 3x3x9

(c) 435700

S.No.

Measurement

In bigger unit

In smaller unit

1.
2.
3.

9m 40cm
5L 426 mi

9.40m

8.900kg

940 cm

Find the speed of truck covering 200km in 4 hours.

Identify the triangle -

/T~

Complete the pattern-

123

(a) 0T —

2°4°6

(b) 0.9, 0.7, 0.5,

CLASS-V
M.M. 30
(1x5=5)
()0
(d) 0.22
(d) 7125
(d) 9x3x2
(d) 304500
(1x4=4)
(1x4=4)
(2)
(1x2=2)
(0.5x4=2)




Q8.

Qo.

Story sums- (3x2=6)

1- Apoleis 49 m 25cm long. What is the total length of 56 such poles?

2- Maya purchased some books for Rs. 37.75, a pen for Rs 29.30 and an answer book for Rs 44.50.
How much money did she spend in all?

Source based questions- (1x3=3)
Use a scale to join the dots. Measure the length with a cm scale. Answer the questions. Scale 1 cm on
map = 2 km

1- How far is the car showroom from the school ?
On the map = 2.3 cm
On the ground = km

2- How far is the football field from the school?
On the map = 4.3 cm
On the ground = km

3- To go from to the ice-cream parlour, in which direction do we move?
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Q1. Multiple choice question- (1x5=5)
(1) It is also called the ‘land of the Rising Sun’
(a) Japan (b) Norway (c) Canada (d) Argentina
(2) Kinshasa is the capital of
(a) Saudi Arabia (b) Democratic Republic of congo (c) Greenland (d) Prairies
(3) The normal body temperature in °F
(a) 37°F (b) 99° F (c) 98.4°F (d) 86° F
(4) Tick the correct option —
1- Fracture (d) nearness
2- Contamination (c) very little
3- Scanty (b) making something impure
4- Proximily (a) break in bones
(a) 1(b) 2(a) 3(c) 4(d) (c) 1(c) 2(d) 3(a) 4(b)
(b) 1(d) 2(c) 3(b) 4(a) (d) 1(a) 2(b) 3(c) 4(d)

(5) Another name of cassava is
(a) Tapioca (b) bantu (c) Congo (d) Sudan

Q2. Source based question-

1- What does the picture depict?
2- How does it occur?
3- Write any one precautionary measures of drought.

Q3. Case study- (3x1=3)
One of the oldest system of writing was cuneiform. It was developed by early humans living in
Mesopotamia. This writing system included symbols or pictures drawn with the help of a pointed
tool on soft clay tablets. This tool was made from reed. The letters were mainly drawn in the shape
of a wedge. The script from which these letters were derived was called cuneiform script. Some
neighbours of Mesopotamians also used cuneiform including Persians and hithites. People used this
writing system to note down information regarding business, trade and temple activities. They also
wrote myths, stories and letters using this system.




Q4.

Q5.

Q6.

Q7.

Q8.

1- Name one of the oldest writing system.
2- Name neighbouring countries of Mesopotamians.
3- Why people used cuneiform script.

Tick the correct statement and tell the reason why it is correct -
(a) The surgery can continue from a few hours up to a few hours.
(b) Wealth is regarded as the greatest power on the earth.

(c) Non biodegradeable waste includes those waste materials.

(d) Soil pollution hampers the research done in the astronomical field.

Give reason-
(a) Rotation is spinning of the earth on its own axis.
(b) ORC is known as ‘Highway of Central Africa’

Define the following terms- (do any 2)
(a) Weather

(b) Chloroform

(c) Air pollution

Answer the following question -

(a) Write causes of water pollution.

(b) What are the guidelines of natural calamities?
(c) Describe the people of desert.

Locate the following states-
(a) Jammu and Kashmir
(b) Gujarat

(c) Tamil Nadu

(2x2=4)

(2x2=4)

(2x1=2)

(3x2=6)

(3x1=3)
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g—1 fr=faRea geai & Sax faReag— (3%2=6)

1. ASHUR WA = 06T F97d & R 1 fHy?
2. BUR 9Rd H ®T—T a9+ &I fAaar 27
3. 989 1 918 B IRl SaRA & forv oarell d Fr—aar = x@r?

g—2 JeAMST AR g=d & 99 = 1 gl R Hare fafay | (2)

g—3 gl s ferai— (2%2=4)
1. 3R 319 TP XTSIl 8Id ol 3 S/ & v 1 dxd? farlRau |
2. 39 JU4 2 & U FT—T B $X IAbd &, FoTad 2 SHfa a |

y—4 faenw ssg forfRau— (2)
1. ¥ 1947 9@ U BRI < UGS AT, 34 ART QI ——— & AT & |
2. gragr 9 9l ———— T2 9xal |

y—5 fa=faRaa areaisn @ fov va wres forlRau— @)
1. o9 eRft R g1 o= foRm— —————
2. I~ S a1 —
3. yrefar &4 9t — —————
4. 99 died drell —

y—6 fead , feast ser? (2)
1. 3R! { gwe @rell g g 9| g
2. 3MUD @ H J¥A 994 dH1 98 Fravetr” |
3. "Ig! B @IS I”
4. "3l AU I D BR JEd R SAHT B |

g—7 T fav v vrecl &1 9vi-fa=s ifore— ()
1. faf=a
2. A9
3. fawior
4. IATHT

y—8 o d@dx garax qaril q I fog s qrd I=1s8i— | (3)




y—9 fr=fafRaa aren o $al, &4 9 fhar &1 T3 &xa darferdr A foal— (3)
1. MRl 3 STd—drdd @y |
2. M fde gedar 2|

g—10 fr=feRaa arqal A fhar sed® & 91 Ied e ygda feaRay— (2)
1. ST IS sleehl 8 ——————
2. faroht srgeaR yed 81 ——————
3. <l off @ @l 8| ——————
4. AT AN T & T

y—11 feu ¢ fo=l @ gaigard weg forRag— (2)
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g—1 = geifascarifor faea —
(1) avi—wdIoE Hod (@l A= &) (1x1)
(@ a+3m+ 9+ 33+ + 3
@EU+S+H+A+IA+H+A+9H

(2) avf — fa=8q Hwd — (avf fawBT ) (0.5%4)
(@) rdw: (M) ST
(@) Pifea: (&1) BuD:
(3) gacaerear faTrgaRel foma— (fAy v et &1 foim & srgar feorat) (3)
(@) Aféror (a1) =
(@) u: (s) afamr:
() =fcar (@) oo
(4) TR 9= uRadaa— (IR 994 93di) (2)
(®) FgHH (aga=an)
(@) T&dH (fgaa+)
() o= (aga=m)
(e1) it (Tpa=)
(5) argwurior fered— (argwu fefeg) (1)
ug THaAT fgaaT RECEEEN
uyfed 3raqie™
g—2 fdagarR sar faaa — (3)
(@) & sref foma— v=d, sga4,. afesdr, &7, War, TR
(@) Rea = QRad— (2)
1. e 9 ————— |
2. f¥ern: et |
9—3 = g&aie 9ed wu fered— (3)

316, TYNE, 9Id, 20, didg, d¥g

g—4 fr=fafEaa sy simfe wuq (@Ehd) faaq (2)
IR D AFM & AW Gxpd 4 faEl—
XD, BT, DET, B




9—6 @ YId: bl [d—fd HRNA? T8 Gpa vz faed— (49 ua: dd &1 |/ SR Had

g w&gpa § foran) (3)
9—7 A Hod— (2)
foramue $due
Totfed HHAH
o qiferahr:
famuafa IR E
Jaaf Bl
9—8 ‘HH' AN aaaify dfRasafa— (2)

qEIhH, AT, eI, Yb:




